THE GAUHATI HIGH COURT _
(The High Court of Assam , Nagaland, Mizoram and Arunachal Pradesh)

Written examination (Objective type multiple choices) in connection with the direct recruitment of
Stenographer Grade III in the Judicial Academy, Assam. o

Date: 07-01-2024 (Sunday) | | Time: 10:00 am to 11:30 am
~ Total Marks: 70 Duration: 1 " hours

Each question carries 1 mark. There is no negative marking.

Fill up the blanks with appropriate preposition from the options given below:

1. Computers are capable doing complicated tasks.

a)on b) of c) from d) with
2. The boy is proficient mathematics.

a) at b) on C) in d) to
3. He is blessed good health.

a) with b) at c) of d) from
4. Nothing can prevent us _ doing our duty.

a) at b) from c)to d) upon
5. Gramophone was invented _____Thomas Edison.
a) for b) from C) by d) with
6) We usually go to Maldives summer,

a) at ~ b)on C) towards d) in
7. I have no patience you.

a) with D) at C) on d) upon
8. The story is different YOurs.

a) of b) from C) upon d) by
9. Raju got engaged August,

a)in b) at C) on d) from
10. I used to go to school foot

a) on b) by C) in d) at

Choose the appropriate one word substitution for the following sentences:

11. An inscription on a tomb

Page 1 of 6



a) Espionage b) Epilogue
12. Something that cannot be explained.
a) Inexplicable

13. Toe much official formality
a) Bureaucracy b) Red-tapism
14. A man who wastes his money on luxury.
a) Extempore b) Thrifty

15. Spoken or done without preparation

a) Verbose b) Extempore
16. One who hates marriage
a) Misanthrope b) Misogamist
17. To write under a different name

a) Anonymous b) Biography
18. Soldiers who fight on horseback

a) Infantry b} Artillery
19. Person who files a suit

a) Charger b) Suitor

20. An assembly of worshippers.

a) Congregation

Find the similar words of the following:

b) Unthinkable

b) Conflagration

21. Refute

a) Amend b) Reconcile
22. Valiant

a) Egoistic b) Timid

23. Bane

a) Havoc b) Blank

24, .Haughty

a) Irresolute b) Intrepid
25. Pauper

a) Affluent b) Audacious

¢) Epitaph

¢) Impregnable
¢) Diplomacy
C) Extrayagant
c) Articulate

c) Misogynist .
c) Pseudonym
c) Cavalry

¢) Plaintiff

¢) Configuration

C) Rebut
c) Heroic
¢) Unproductive

c) Gleeful

¢) Insolvent

d) Elegy

d) Mysterious

d) Autocracy

d) Promiscuous

d) Confident
d) Polygamist_
d) Masquerade
d) Armoured
d) Accuse

d) Confrontation

d) Endorse
d) Honest
d) Assault

d) Overbearing

d) Ardent
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Find the opposite words of the following:
26. Placid

a) Agitated b) Serene c) Pioneer d) Tenable

27. Stubborn

a) courteous ' - b) sporadic ¢) adroit d) complacent
28. Retaliate

a) renounce ' b) revoke c) attack d) pardon

29. Vindicate

a) convict b) exculpate C) assist d) emulate
30. Kindle

a) support b) ignite c) extinguish d) spoiled

Choose the young ones of the following:

31. Cock

a) fawn b) foal ¢) cockerel d) colt

32. Hare .

a) cygnet b)cub ¢) calf d) Leveret

33. Mare ' ' '

a) colt - b)filly c) fawn d) piglet

34. Hen

a) owlet b) heifer ) pullet d) cub
35, Swan

a) heifer - b) leveret - ¢) cygnet d) pullet

Choose the alfernative which best expresses the meaning of the idiom/phrase:

36. He decided to bury the hatchet.

a) to keep a secret b) to make peace ) to fool soméone d) to bury the wealth
37. 1 took exception to his remarks and left the meeting.

a) objected b) suggested c) heard ' d) excused

38. What egged you on to become a lawyer?

a) urged b) dampened c) hindered - -d) discouraged
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39. The project is carried over to this year and we need to keep the ball rolling.
a) to continue the work b) more information  c) to do better d) new strategies
40. The carrot and stick policy pays dividends in every organization.

a) fair and foul b) continuous vigilance ¢) democratic d) reward and punishment.

Find the correctly spelt word:

41. a) Dansuese b) Danseuse ¢) Danseus d) Densuace
2. 'a) Acoustic b) Norcoctic c) Pesimist d) Permentant
43 . a) Demagoqgue b) Deliverence ¢) Delinquancy - d) Delibarative
44. a) Impetous ' b) Ignoable c) Ignominious d) Idiosyncrésy
45. a) Asiduous b) Nefarious c) Macaber d) Logacious

Choose the expression which is an improvement upon the bold part. If none of the three
expressions improves the sentence, then your answer is (d):

46. I am tired as I am working since 7 O’'ciock in the morning.

(a) I was working b) I had been working ¢) I have been working (d) no improvement
47. The teacher gave the students some advice. -

(a) advices (b) advise (c) advises - (d) no improvement
48. You should avoid to make such trivial mistakes.

(a) avoid making (b) avoid to have made (c) avoid make (d) no improvement
49. If the room had been brighter, I would have been able to read for a while before bed time.

(a) If the room was brighter b) if rooms are brighter c) had the room brighter d) no improvement
50. A very horrifying serial was broadcasted ten days ago. .

a) has broadcast ' b) was broadcast c) was broadcasting d) no improvement

ASSAMESE SECTION

G5] e T - (Q No. 51-55)

51, (PG A AEABAR Qe dfofaigg w11 @1-

a) IERIRES b) STl ¢) AN . d) M

52. q@el frare 1 f99-

a) QW b) LR c) (TS d) ubre wm 923
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a) fefRfams b) I€IIME c) e - d) abie &7 q2¥
54, T4 IR Ao e @RIR-

a) (2d b) S o) THIT-ATSH] d) e

55. [<2< Sam=I-
a) I fg b) TF c) (aPTTRf d) @ble &% 72¥

o ¥H (F30IF ANLSF 185~ (Q No. 56-60)

56. freaIfe-
a) offad b) #If® c) (9 d) 18
57, Af%-
2) T b) T c) O d) A
58, YIS
ca) T - b) ol c) 9| d) «bre wa T2
59, *I-
2) fvra b) Rvreetfs ) il J) T
60. WS-
a) IO b) 72 c) 'w= ' d) ©19

61, ‘©r® 999 9 TF-
a) 7Y b) @ c) A 91 d) &
62. ‘5F 1 Fler I 9L TH-

2)  wfe frcam W ) W il Tl

b) —wiWNe T&A oG d) RS
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63. “TGfe TR Trgdl o567 WY TH-
2)  sfEfea b) foagd
64. ‘(A poife’ Trgar Iive AL -

a) EUCIE .b) WW

65. OFq (FIFCD! IF] B&-

a) MO SRl (F5TS Q]ﬁTCQI

b) TIER AFE G5 AR e =l fmifcad |

c) RAIM AFers Sl fran Tfve

d) @ TR A A AR I ACOS (2 AT |

c) Ao _ d) w4

c) cyifer =< d) 93 ST ==

66. ©Eq (PG BF-

a) SR bR ) SATeTa d) e
67. TPIHT AT AFITI GTIF (T ?

a) oAl 5 e ¢) TGS IALa

b) RICIT I9CNRIEZ d) vEew *3R

68. TINE S {ACAGIR'T TS (I ?

a) OGS F2FI b) T c) T4 FRIH d) = *{

69. TN Afzere ‘Remdl s’ 1 w16 &= 7 7

a) AAFEE (DTS

b)  IIAIPE SOOI

70, APTRMI 12 A9 FOLaE F1IF (@ ?

a)  TEINY (el b) I W

— P el ek - S S B A B WY ey e sk, bl sl Sk el S N B BN S B TR

c) afyFifaal RGBS

d) SR T

) TE I d) = g
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